

A Note on (j, k) -Symmetric Harmonic Functions Defined by Sälägean Derivatives

Fuad.S.M.Al Sarari

(Department of Studies in Mathematics, Manasagangotri, University of Mysore, Mysore 570 006, India)

S.Latha

(Department of Mathematics, Yuvaraja's College, University of Mysore, Mysore 570 005, India)

E-mail: alsrari@yahoo.com, drlatha@gmail.com

Abstract: In this paper, using the concept of (j, k) -symmetric functions and Sälägean operator we introduce the class $\mathcal{SH}_s^{j,k}(\beta, \lambda, b)$ of functions $f = h + \overline{g}$ which are harmonic in \mathcal{U} . Coefficients bound for functions to be in this class. We also shown that this coefficient bound is also necessary for the class of functions of the form $f = h_\lambda + \overline{g_\lambda}$, belonging to the class $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. Distortion bounds, extreme points and neighborhood for the class $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ are also obtained.

Key Words: (j, k) -Symmetric functions, harmonic functions, Sälägean operator, distortion bounds, neighborhood.

AMS(2010): 30C45, 30C50, 30C55.

§1. Introduction

A continuous function $f = u + iv$ is a complex valued harmonic function in a complex domain \mathbb{C} if both u and v are real harmonic in \mathbb{C} . In any simply connected domain $\mathcal{D} \in \mathbb{C}$ we can write $f(z) = h + \overline{g}$, where h and g are analytic in \mathcal{D} . We call h the analytic part and g the co-analytic part of f . A necessary and sufficient condition for f to be locally univalent and sense-preserving in \mathcal{D} is that $|h'(z)| > |g'(z)|$ in \mathcal{D} , (see [14]).

Denote by \mathcal{SH} the class of functions $f(z) = h + \overline{g}$ that are harmonic univalent and orientation preserving in the open unit disk $\mathcal{U} = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$, for which $f(0) = f_z(0) - 1 = 0$. Then for $f(z) = h + \overline{g} \in \mathcal{SH}$, we may express the analytic functions f and g as

$$h(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad g(z) = \sum_{n=1}^{\infty} b_n z^n, \quad |b_1| < 1. \quad (1)$$

Note that \mathcal{SH} reduces to the class \mathcal{S} of normalized analytic univalent functions if the

¹Received March 25, 2015, Accepted November 21, 2015.

co-analytic part of its members is zero. For this class the function $f(z)$ may be expressed as

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (2)$$

A function $f(z) = h + \bar{g}$ with h and g given by (1) is said to be harmonic starlike of order β for $(0 \leq \beta < 1, \text{ for } |z| = r < 1 \text{ if})$

$$\frac{\partial}{\partial \theta}(\arg f(re^{i\theta})) = \Im \left\{ \frac{\frac{\partial}{\partial \theta} f(re^{i\theta})}{f(re^{i\theta})} \right\} = \Re \left\{ \frac{zh'(z) - \overline{zg'(z)}}{h(z) + \overline{g(z)}} \right\} \geq \beta.$$

The class of all harmonic starlike functions of order β is denoted by $\mathcal{S}_H^*(\beta)$ and extensively studied by Jahangiri ([1]). The cases $\beta = 0$ and $b_1 = 1$ were studied by Silverman and Silvia ([2]) and Silverman ([6]).

Definition 1.1 *Let k be a positive integer. A domain \mathcal{D} is said to be k -fold symmetric if a rotation of \mathcal{D} about the origin through an angle $\frac{2\pi}{k}$ carries \mathcal{D} onto itself. A function f is said to be k -fold symmetric in \mathcal{U} if for every z in \mathcal{U}*

$$f(e^{\frac{2\pi i}{k}} z) = e^{\frac{2\pi i}{k}} f(z).$$

The family of all k -fold symmetric functions is denoted by \mathcal{S}^k and for $k = 2$ we get class of the odd univalent functions.

The notion of (j, k) -symmetrical functions ($k = 2, 3, \dots$; $j = 0, 1, 2, \dots, k-1$) is a generalization of the notion of even, odd, k -symmetrical functions and also generalize the well-known result that each function defined on a symmetrical subset can be uniquely expressed as the sum of an even function and an odd function.

The theory of (j, k) symmetrical functions has many interesting applications, for instance in the investigation of the set of fixed points of mappings, for the estimation of the absolute value of some integrals, and for obtaining some results of the type of Cartan uniqueness theorem for holomorphic mappings ([12]).

Definition 1.2 *Let $\varepsilon = (e^{\frac{2\pi i}{k}})$ and $j = 0, 1, 2, \dots, k-1$ where $k \geq 2$ is a natural number. A function $f : \mathcal{U} \mapsto \mathbb{C}$ is called (j, k) -symmetrical if*

$$f(\varepsilon z) = \varepsilon^j f(z), \quad z \in \mathcal{U}.$$

We note that the family of all (j, k) -symmetric functions is denoted by $\mathcal{S}^{(j,k)}$. Also, $\mathcal{S}^{(0,2)}$, $\mathcal{S}^{(1,2)}$ and $\mathcal{S}^{(1,k)}$ are called even, odd and k -symmetric functions respectively. We have the following decomposition theorem.

Theorem 1.3([12]) *For every mapping $f : \mathcal{D} \mapsto \mathbb{C}$, and \mathcal{D} is a k -fold symmetric set, there*

exists exactly the sequence of (j, k) -symmetrical functions $f_{j,k}$,

$$f(z) = \sum_{j=0}^{k-1} f_{j,k}(z)$$

where

$$f_{j,k}(z) = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-vj} f(\varepsilon^v z), \quad (3)$$

$$(f \in \mathcal{A}; \quad k = 1, 2, \dots; j = 0, 1, 2, \dots, k-1)$$

From (3) we can get

$$f_{j,k}(z) = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-vj} f(\varepsilon^v z) = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{-vj} \left(\sum_{n=1}^{\infty} a_n (\varepsilon^v z)^n \right),$$

then

$$f_{j,k}(z) = \sum_{n=1}^{\infty} \delta_{n,j} a_n z^n, \quad a_1 = 1, \quad \delta_{n,j} = \frac{1}{k} \sum_{v=0}^{k-1} \varepsilon^{(n-j)v} = \begin{cases} 1, & n = lk + j; \\ 0, & n \neq lk + j; \end{cases} \quad (4)$$

Ahuja and Jahangiri ([3]) discussed the class $\mathcal{SH}(\beta)$ which denotes the class of complex-valued, sense-preserving, harmonic univalent functions f of the form (1) and satisfying

$$\Re \left\{ \frac{2 \frac{\partial}{\partial \theta} f(re^{i\theta})}{f(re^{i\theta}) - f(-re^{i\theta})} \right\} > \beta, \quad 0 \leq \beta < 1.$$

The authors ([13]) introduced and discussed the class $\mathcal{SH}_{s,j,k}(\beta)$ which denotes the class of complex-valued, sense-preserving, harmonic univalent functions f of the form (1) and satisfying

$$\Re \left\{ \frac{\frac{\partial}{\partial \theta} f(re^{i\theta})}{f_{j,k}(re^{i\theta})} \right\} > \beta, \quad 0 \leq \beta < 1.$$

For $f = h + \overline{g}$ where h and g are given by (1), Jahangiri ([15]) defined the modified Sälägean operator of f as

$$D^\lambda f(z) = D^\lambda h(z) + (-1)^\lambda \overline{D^\lambda g(z)}, \quad \lambda = 0, 1, 2, \dots, \quad (5)$$

where

$$D^\lambda h(z) = z + \sum_{n=2}^{\infty} n^\lambda a_n z^n, \quad D^\lambda g(z) = \sum_{n=1}^{\infty} n^\lambda b_n z^n. \quad (6)$$

Now using Sälägean operator D^λ and the concepts of (j, k) -symmetric points we define the following.

Definition 1.4 For $0 \leq \beta < 1$ and $k = 1, 2, 3, \dots$, $j = 0, 1, \dots, k-1$, $\lambda \in \mathbb{N}_0$, $b \neq 0$,

let $\mathcal{SH}_s^{j,k}(\beta, \lambda, b)$ denote the class of harmonic functions f of the form (1) which satisfy the condition

$$\Re \left\{ 1 - \frac{2}{b} + \frac{2D^{\lambda+1}f(z)}{bD^\lambda f_{j,k}(z)} \right\} > \beta, \quad (7)$$

where

$$D^\lambda f_{j,k}(z) = \delta_{1,j}z + \sum_{n=2}^{\infty} n^\lambda \delta_{n,j} a_n z^n + (-1)^\lambda \overline{\sum_{n=1}^{\infty} n^\lambda \delta_{n,j} b_n z^n} \quad (8)$$

and $\delta_{n,j}$ is defined by (4).

Let $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ denote the subclass of $\mathcal{SH}_s^{j,k}(\beta, \lambda, b)$ consist of harmonic functions of $f_\lambda = h_\lambda + \overline{g_\lambda}$ such that h_λ and $\overline{g_\lambda}$ are of the form

$$h_\lambda(z) = z - \sum_{n=2}^{\infty} |a_n| z^n, \quad g_\lambda(z) = (-1)^\lambda \sum_{n=1}^{\infty} |b_n| z^n. \quad (9)$$

Since

$$rrh_{j,k} = \delta_{1,j}z + \sum_{n=2}^{\infty} \delta_{n,j} a_n z^n, \quad g_{j,k}(z) = \overline{\sum_{n=1}^{\infty} \delta_{n,j} b_n z^n}, \quad (10)$$

also, let $f_{\lambda,j,k} h_{\lambda,j,k} + \overline{g_{\lambda,j,k}}$ such that $h_{\lambda,j,k}$ and $\overline{g_{\lambda,j,k}}$ are of the form

$$h_{\lambda,j,k}(z) = \delta_{-1,j}z - \sum_{n=2}^{\infty} \delta_{n,j} |a_n| z^n, \quad g_{\lambda,j,k}(z) = (-1)^\lambda \sum_{n=1}^{\infty} \delta_{n,j} |b_n| z^n, \quad (11)$$

where $\delta_{n,j}$ is given by (4).

The following special cases are of interest

- (1) $\mathcal{SH}_s^{1,k}(\beta, 0, 2) = \mathcal{SH}_s^k(\beta)$, the class introduced by AL-Shaqsi and Darus in [15];
- (2) $\mathcal{SH}_s^{1,2}(\beta, 0, 2) = \mathcal{SH}(\beta)$, the class introduced by Ahuja and Jahangiri in [3];
- (3) $\mathcal{SH}_s^{1,1}(\beta, 0, 2) = \mathcal{SH}^*(\beta)$ the class introduced by Jahangiri in [1];
- (4) $\mathcal{SH}_s^{1,1}(0, 0, 2) = \mathcal{SH}^*$ the class introduced by Silverman and Silvia in [2];
- (5) $\mathcal{SH}_s^{1,1}(\beta, \lambda, 2) = \mathcal{SH}(\beta, \lambda)$ the class introduced by Jahangiri in [5];
- (6) $\mathcal{SH}_s^{j,k}(\beta, 0, 2) = \mathcal{SH}_s^{j,k}(\beta)$ the class introduced Fuad Alsarari and S.Latha ([13]).

§2. Coefficient Bounds

Theorem 2.1 If $f = h + \overline{g}$ with h and g given by (??) and $D^\lambda f_{j,k}$ is defined by (8)

$$\sum_{n=1}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n| + \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n| \right\} \leq 2, \quad (12)$$

where $b \neq 0, a_1 = 1, 0 \leq \beta < 1, \lambda \in \mathbb{N}_0$ and $\delta_{n,j}$ is defined by (4), then f is sense-preserving, harmonic univalent in \mathcal{U} , and $f \in \mathcal{SH}_s^{j,k}(\beta, \lambda, b)$.

Proof If $z_1 \neq z_2$, then

$$\begin{aligned}
 \left| \frac{f(z_1) - f(z_2)}{h(z_1) - h(z_2)} \right| &\geq 1 - \left| \frac{g(z_1) - g(z_2)}{h(z_1) - h(z_2)} \right|, \\
 &= 1 - \left| \frac{\sum_{n=1}^{\infty} b_n (z_1^n - z_2^n)}{(z_1 - z_2) + \sum_{n=2}^{\infty} a_n (z_1^n - z_2^n)} \right|, \\
 &> 1 - \frac{\sum_{n=1}^{\infty} |b_n|}{1 - \sum_{n=2}^{\infty} |a_n|}, \\
 &> 1 - \frac{\sum_{n=1}^{\infty} \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |b_n|}{1 - \sum_{n=2}^{\infty} \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |a_n|} \geq 0,
 \end{aligned}$$

which proves univalence. Note that f is sense-preserving in \mathcal{U} . This is because

$$\begin{aligned}
 |h'(z)| &\geq 1 - \sum_{n=2}^{\infty} n |a_n| |z|^{n-1} > 1 - \sum_{n=2}^{\infty} \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |a_n| \\
 &\geq \sum_{n=1}^{\infty} \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |b_n| > \sum_{n=1}^{\infty} \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |b_n| |z|^{n-1} \\
 &\geq \sum_{n=1}^{\infty} n |b_n| |z|^{n-1} \geq |g'(z)|.
 \end{aligned}$$

Using the fact $\Re\{w\} > \beta$ if and only if $|1 - \beta + w| \geq |1 + \beta - w|$ it suffices that. Let

$$\Re \left\{ \frac{A(z)}{B(z)} \right\} = \Re \left\{ \frac{(b-2)D^\lambda f_{j,k}(z) + 2D^{\lambda+1}f(z)}{bD^\lambda f_{j,k}(z)} \right\} > \beta, \quad (13)$$

it suffices to show that

$$|A(z) + (1 - \beta)B(z)| - |A(z) - (1 + \beta)B(z)| \geq 0.$$

Now we have

$$\begin{aligned}
 |(1 - \beta)B(z) + A(z)| &= |(1 - \beta)bD^\lambda f_{j,k}(z) + (b - 2)D^\lambda f_{j,k}(z) + 2D^{\lambda+1}f(z)| \\
 &= |[b(2 - \beta) - 2]D^\lambda f_{j,k}(z) + 2D^{\lambda+1}f(z)| \\
 &= \left| (b(2 - \beta) - 2)[\delta_{1,j}z + \sum_{n=2}^{\infty} n^\lambda \delta_{n,j} a_n z^n + (-1)^\lambda \sum_{n=1}^{\infty} n^\lambda \delta_{n,j} b_n z^n] \right. \\
 &\quad \left. + 2[z + \sum_{n=2}^{\infty} n^{\lambda+1} a_n z^n - (-1)^\lambda \sum_{n=1}^{\infty} n^{\lambda+1} b_n z^n] \right|.
 \end{aligned}$$

So

$$\begin{aligned}
 |(1 - \beta)B(z) + A(z)| &\geq [(b(2 - \beta) - 2)\delta_{1,j} + 2]|z| - \sum_{n=2}^{\infty} [2n + (b(2 - \beta) \\
 &\quad - 2)\delta_{n,j}] n^\lambda |a_n| |z|^n - \sum_{n=1}^{\infty} [2n - (b(2 - \beta) - 2)\delta_{n,j}] n^\lambda |b_n| |z|^n. \quad (14)
 \end{aligned}$$

Also

$$\begin{aligned}
|(1+\beta)B(z) - A(z)| &= |(1+\beta)bD^\lambda f_{j,k}(z) - (b-2)D^\lambda f_{j,k}(z) - 2D^{\lambda+1}f(z)| \\
&= \left| (2+b\beta)[\delta_{1,j}z + \sum_{n=2}^{\infty} n^\lambda \delta_{n,j} a_n z^n + (-1)^\lambda \sum_{n=1}^{\infty} n^\lambda \delta_{n,j} b_n z^n] \right. \\
&\quad \left. - 2[z + \sum_{n=2}^{\infty} n^{\lambda+1} a_n z^n - (-1)^\lambda \sum_{n=1}^{\infty} n^{\lambda+1} b_n z^n] \right|.
\end{aligned}$$

So

$$\begin{aligned}
|(1+\beta)B(z) - A(z)| &\leq [(2+b\beta)\delta_{1,j} - 2]|z| + \sum_{n=2}^{\infty} [2n - (2+b\beta)\delta_{n,j}] n^\lambda |a_n| |z|^n + \sum_{n=1}^{\infty} \\
&\quad \times [2n + (2+b\beta)\delta_{n,j}] n^\lambda |b_n| |z|^n.
\end{aligned} \tag{15}$$

By (14) and (15), we have

$$\begin{aligned}
&|(1-\beta)B(z) + A(z)| - |(1+\beta)B(z) - A(z)| \\
&\geq 2\{[b(1-\beta) - 2]\delta_{1,j} + 2\}|z| - 2 \sum_{n=2}^{\infty} \{[b(1-\beta) - 2]\delta_{n,j} + 2n\} n^\lambda |a_n| |z|^n \\
&\quad - 2 \sum_{n=1}^{\infty} \{[2 - b(1-\beta)]\delta_{n,j} + 2n\} n^\lambda |b_n| |z|^n \\
&\geq 2\{[b(1-\beta) - 2]\delta_{1,j} + 2\} \\
&\quad \times \left\{ 1 - \sum_{n=2}^{\infty} \frac{\{[b(1-\beta) - 2]\delta_{n,j} + 2n\}}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |a_n| - \sum_{n=1}^{\infty} \frac{\{[2 - b(1-\beta)]\delta_{n,j} + 2n\}}{[b(1-\beta) - 2]\delta_{1,j} + 2} n^\lambda |b_n| \right\}.
\end{aligned}$$

This last expression is nonnegative by (12), and so the proof is complete. \square

The harmonic function

$$f(z) = z + \sum_{n=2}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{n,j} + 2n\} n^\lambda} x_n z^n + \sum_{n=1}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[2 - b(1-\beta)]\delta_{n,j} + 2n\} n^\lambda} \overline{y_n z^n}, \tag{16}$$

where $b \neq 0$, $0 \leq \beta < 1$, $\lambda \in \mathbb{N}_0$ and $\delta_{n,j}$ is defined by (4), and $\sum_{n=2}^{\infty} |x_n| + \sum_{n=1}^{\infty} |y_n| = 1$ shows that the coefficient given by (12) is sharp, and the functions of form (16) are in $\mathcal{SH}_s^{j,k}(\beta, \lambda, b)$.

We next show that condition (12) is also necessary for functions in $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$.

Theorem 2.2 *Let $f_\lambda = h_\lambda + \overline{g_\lambda}$ be given by (9). Then $f_\lambda \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ if and only if*

$$\sum_{n=1}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n| + \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n| \right\} \leq 2, \tag{17}$$

where $b > 0$, $a_1 = 1$, $0 \leq \beta < 1$, $\lambda \in \mathbb{N}_0$ and $\delta_{n,j}$ is defined by (4).

Proof Since $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b) \subset \mathcal{SH}_s^{j,k}(\beta, \lambda, b)$, we only need to prove the necessity part of the theorem. To this end, for functions f_λ and $f_{\lambda,j,k}$ of the form (9) and (11) respectively, we notice that the condition (7) is equivalent to

$$\Re \left\{ \frac{[b(1-\beta)-2]D^\lambda f_{\lambda,j,k}(z) + 2D^{\lambda+1}(z)}{bD^\lambda f_{\lambda,j,k}(z)} \right\} \geq 0$$

$$\Re \left\{ \frac{[(b(1-\beta)-2)\delta_{1,j}+2]z - \sum_{n=2}^{\infty} [2n + (b(1-\beta)-2)\delta_{n,j}]n^\lambda |a_n|z^n - \sum_{n=1}^{\infty} [2n - (b(1-\beta)-2)\delta_{n,j}]n^\lambda |b_n|\overline{z}^n}{b[\delta_{n,1}z - \sum_{n=2}^{\infty} n^\lambda \delta_{n,j}|a_n|z^n + \sum_{n=1}^{\infty} n^\lambda \delta_{n,j}|b_n|\overline{z}^n]} \right\} \geq 0.$$

The above required in the above inequality must hold for all values of z in \mathcal{U} . Upon choosing the values of z on the positive real axis where $0 \leq z = r < 1$, we have

$$\frac{[(b(1-\beta)-2)\delta_{1,j}+2] - \sum_{n=2}^{\infty} [2n + (b(1-\beta)-2)\delta_{n,j}]n^\lambda |a_n|r^{n-1} - \sum_{n=1}^{\infty} [2n - (b(1-\beta)-2)\delta_{n,j}]n^\lambda |b_n|r^{n-1}}{b[\delta_{n,1}r - \sum_{n=2}^{\infty} n^\lambda \delta_{n,j}|a_n|r^{n-1} + \sum_{n=1}^{\infty} n^\lambda \delta_{n,j}|b_n|r^{n-1}]} \geq 0.$$

If the condition (7) does not hold, then the numerator in the above inequality is negative for r sufficiently close to 1. Hence there exist $z_0 = r_0 \in (0, 1)$ for which the quotient in the above inequality is negative. This contradicts the required condition for $f_\lambda \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ so the proof is complete. \square

§3. Distortion Bounds

Theorem 3.1 Let $f_\lambda \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. Then for $|z| = r < 1$, one has

$$|f_\lambda(z)| \geq (1 - |b_1|)r - r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]\delta_{1,j}}{[b(1-\beta)-2]\delta_{1,j}+2} |b_1| \right),$$

$$|f_\lambda(z)| \leq (1 - |b_1|)r + r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]\delta_{1,j}}{[b(1-\beta)-2]\delta_{1,j}+2} |b_1| \right).$$

Proof Let $f_\lambda \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. Taking the obsolete vale of f_λ , we obtain

$$|f_\lambda(z)| = \left| z - \sum_{n=2}^{\infty} a_n z^n + (-1)^\lambda \sum_{n=1}^{\infty} b_n z^n \right|$$

$$\geq (1 - |b_1|)r - \sum_{n=2}^{\infty} (|a_n| + |b_n|)r^n \geq (1 - |b_1|)r - r^2 \sum_{n=2}^{\infty} (|a_n| + |b_n|)$$

$$\geq (1 - |b_1|)r - r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \left(\sum_{n=2}^{\infty} \frac{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda}{b(1-\beta)-2\delta_{1,j}+2} (|a_n| + |b_n|) \right)$$

$$\geq (1 - |b_1|)r - r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta)-2\}\delta_{n,j}]}{[b(1-\beta)-2]\delta_{1,j}+2} |a_n| \right\}$$

$$- r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta)-2\}\delta_{n,j}]}{[b(1-\beta)-2]\delta_{1,j}+2} |b_n| \right\}$$

$$\geq (1 - |b_1|)r - r^2 \frac{[b(1-\beta)-2]\delta_{1,j}+2}{\{[b(1-\beta)-2]\delta_{2,j}+4\}2^\lambda} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]\delta_{1,j}}{[b(1-\beta)-2]\delta_{1,j}+2} |b_1| \right).$$

Also

$$\begin{aligned}
|f_\lambda(z)| &= \left| z - \sum_{n=2}^{\infty} a_n z^n + (-1)^\lambda \sum_{n=1}^{\infty} b_n z^n \right| \\
&\leq (1 - |b_1|)r + \sum_{n=2}^{\infty} (|a_n| + |b_n|)r^n \leq (1 - |b_1|)r + r^2 \sum_{n=2}^{\infty} (|a_n| + |b_n|) \\
&\leq (1 - |b_1|)r + r^2 \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^\lambda} \left(\sum_{n=2}^{\infty} \frac{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^\lambda}{b(1-\beta) - 2\delta_{1,j} + 2} (|a_n| + |b_n|) \right) \\
&\leq (1 - |b_1|)r + r^2 \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^\lambda} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n| \right\} \\
&\quad + r^2 \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^\lambda} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n| \right\} \\
&\leq (1 - |b_1|)r + r^2 \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^\lambda} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_1| \right). \quad \square
\end{aligned}$$

The following covering result follows from left-hand inequality in Theorem 3.1.

Corollary 3.2 Let $f_\lambda = h_\lambda + \overline{g_\lambda}$ be given by (9) are in $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$, then

$$\begin{aligned}
\left\{ w : |w| < \frac{2^{\lambda+1}[4 + \{b(1-\beta) - 2\}\delta_{2,j}] - [b(1-\beta) - 2]\delta_{1,j} + 2}{2^\lambda[4 + \{b(1-\beta) - 2\}\delta_{2,j}]} \right. \\
\left. - \frac{2^{\lambda+1}[4 + \{b(1-\beta) - 2\}\delta_{2,j} - [2 + \{2 - b(1-\beta)\}\delta_{1,j}]]}{2^\lambda[4 + \{b(1-\beta) - 2\}\delta_{2,j}]} |b_1| \right\} \subset f_\lambda(\mathcal{U}).
\end{aligned}$$

Next we determine the extreme points of closed convex hulls of $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ denoted by $clco\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. $[2n + \{b(1-\beta) - 2\}\delta_{n,j}]$, $[b(1-\beta) - 2]\delta_{1,j} + 2$, $[2n + \{2 - b(1-\beta)\}\delta_{n,j}]$.

Theorem 3.3 Let $f_\lambda = h_\lambda + \overline{g_\lambda}$ be given by (9). Then $f_\lambda \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ if and only if

$$f_\lambda(z) = \sum_{n=1}^{\infty} (X_n h_{\lambda_n}(z) + Y_n g_{\lambda_n}(z)),$$

where $h_{\lambda_1} = z$,

$$\begin{aligned}
h_{\lambda_n}(z) &= z - ([b(1-\beta) - 2]\delta_{1,j} + 2)/n^\lambda [2n + \{b(1-\beta) - 2\}\delta_{n,j}] z^n, \quad n = 2, 3, 4, \dots, \\
g_{\lambda_n}(z) &= z + (-1)^\lambda ([b(1-\beta) - 2]\delta_{1,j} + 2)/n^\lambda [2n + \{2 - b(1-\beta)\}\delta_{n,j}] \overline{z}^n, \quad n = 1, 2, 3, \dots
\end{aligned}$$

and

$$\sum_{n=1}^{\infty} (X_n + Y_n) = 1, \quad X_n \geq 0, \quad Y_n \geq 0.$$

In particular, the extreme point of $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ are $\{h_{\lambda_n}\}$ and $\{g_{\lambda_n}\}$.

Proof Since

$$\begin{aligned} f_\lambda(z) &= \sum_{n=1}^{\infty} (X_n h_{\lambda_n}(z) + Y_n g_{\lambda_n}(z)) \\ &= \sum_{n=1}^{\infty} (X_n + Y_n)z - \sum_{n=2}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{n^\lambda [2n + \{b(1-\beta) - 2\}\delta_{n,j}]} X_n z^n \\ &\quad + (-1)^\lambda \sum_{n=1}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{n^\lambda [2n + \{2 - b(1-\beta)\}\delta_{n,j}]} Y_n \bar{z}^n. \end{aligned}$$

Then

$$\begin{aligned} \sum_{n=2}^{\infty} n^\lambda \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n| &+ \sum_{n=1}^{\infty} n^\lambda \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n| \\ &= \sum_{n=2}^{\infty} X_n + \sum_{n=1}^{\infty} Y_n = 1 - X_1 \leq 1, \end{aligned}$$

and so $f_\lambda \in clco\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$.

Conversely suppose that $f_\lambda \in clco\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. Setting

$$\begin{aligned} X_n &= \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n|, \quad 0 \leq X_n \leq 1, \quad n = 2, 3, 4, \dots, \\ Y_n &= \frac{[2n + \{2 - b(1-\beta)\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n|, \quad 0 \leq Y_n \leq 1, \quad n = 1, 2, 3, \dots, \end{aligned}$$

and

$$X_1 = 1 - \sum_{n=2}^{\infty} X_n - \sum_{n=2}^{\infty} Y_n.$$

Therefore f_λ can be written as

$$\begin{aligned} f_\lambda(z) &= z - \sum_{n=2}^{\infty} |a_n| z^n + (-1)^\lambda - \sum_{n=1}^{\infty} |b_n| \bar{z}^n \\ &= z - \sum_{n=2}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{n^\lambda [2n + \{b(1-\beta) - 2\}\delta_{n,j}]} X_n z^n \\ &\quad + (-1)^\lambda - \sum_{n=1}^{\infty} \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{n^\lambda [2n + \{2 - b(1-\beta)\}\delta_{n,j}]} Y_n \bar{z}^n \\ &= z - \sum_{n=2}^{\infty} (h_{\lambda_n}(z) - z) X_n + (-1)^\lambda \sum_{n=1}^{\infty} (g_{\lambda_n}(z) - z) Y_n \\ &= \sum_{n=2}^{\infty} h_{\lambda_n}(z) X_n + \sum_{n=1}^{\infty} g_{\lambda_n}(z) Y_n + z \left(1 - \sum_{n=2}^{\infty} X_n - \sum_{n=1}^{\infty} Y_n \right) \\ &= \sum_{n=1}^{\infty} (h_{\lambda_n}(z) X_n + g_{\lambda_n}(z) Y_n). \quad \square \end{aligned}$$

§4. Neighborhood Result

In this section, we will prove that the functions in neighborhood of $\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$ are starlike harmonic functions.

Using (4), we define the ρ -neighborhood of function $f \in \tau H$

$$\mathcal{N}_\rho(f) = \left\{ F(z) = z - \sum_{n=2}^{\infty} A_n z^n - \sum_{n=1}^{\infty} B_n \bar{z}^n, \sum_{n=2}^{\infty} n[|a_n - A_n| + |b_n - B_n| + |b_1 - B_1|] \leq \rho \right\},$$

where $\rho > 0$.

Theorem 4.1 *Let*

$$\rho = \frac{2^\lambda [\{2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j}\} - [b(1-\beta) - 2]\delta_{1,j} + 2 - \{2^\lambda [2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j} - [2 + \{2 - b(1-\beta)\}\delta_{1,j}]\}}]}{2^\lambda [\{2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j}\}]}.$$

Then $N_\rho(\overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)) \subset \tau H$.

Proof Suppose $f \in \overline{\mathcal{SH}}_s^{j,k}(\beta, \lambda, b)$. Let $F_\lambda = H_\lambda + \overline{G_\lambda} \in N_\rho(f_\lambda)$, where $H_\lambda = z - \sum_{n=2}^{\infty} A_n z^n$ and $G_\lambda = (-1)^\lambda \sum_{n=1}^{\infty} B_n \bar{z}^n$, we need to show that $F_\lambda \in \tau H$. In other words, it suffices to show that F_λ satisfies the condition $\tau(F) = \sum_{n=2}^{\infty} n[|A_n| + |B_n|] + |B_1| \leq 1$. We observe that

$$\begin{aligned} \tau(F) &= \sum_{n=2}^{\infty} n[|A_n| + |B_n|] + |B_1| \\ &= \sum_{n=2}^{\infty} n[|A_n - a_n + a_n| + |B_n b_n + b_n|] + |B_1 - b_1 + b_1| \\ &= \sum_{n=2}^{\infty} n[|A_n - a_n| + |B_n - b_n|] + \sum_{n=2}^{\infty} n[|a_n| + |b_n|] + |B_1 - b_1| + |b_1| \\ &= \rho + |b_1| + \sum_{n=2}^{\infty} n[|a_n| + |b_n|] \\ &= \rho + |b_1| + \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}} \left(\sum_{n=2}^{\infty} \frac{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}}{b(1-\beta) - 2\delta_{1,j} + 2} (|a_n| + |b_n|) \right) \\ &\leq \rho + |b_1| + \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |a_n| \right\} \\ &\quad + \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}} \sum_{n=2}^{\infty} n^\lambda \left\{ \frac{[2n + \{b(1-\beta) - 2\}\delta_{n,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_n| \right\} \\ &\leq \rho + |b_1| + \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_1| \right). \end{aligned}$$

Now this last expression is never greater than one if

$$\begin{aligned} \rho &\leq 1 - |b_1| - \frac{[b(1-\beta) - 2]\delta_{1,j} + 2}{\{[b(1-\beta) - 2]\delta_{2,j} + 4\}2^{\lambda-1}} \left(1 - \frac{[2 + \{2 - b(1-\beta)\}\delta_{1,j}]}{[b(1-\beta) - 2]\delta_{1,j} + 2} |b_1| \right) \\ &= \frac{2^\lambda [\{2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j}\} - [b(1-\beta) - 2]\delta_{1,j} + 2 - \{2^\lambda [2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j} - [2 + \{2 - b(1-\beta)\}\delta_{1,j}]]\}]}{2^\lambda [\{2 + \{\frac{b}{2}(1-\beta) - 1\}\delta_{2,j}\}]} \end{aligned}$$

□

References

- [1] J.M.Jahangiri, Harmonic functions starlike in the unit disk, *Journal of Mathematical Analysis and Applications* **235**(2), (1999), 470-477.
- [2] H.Silverman and E.M.Silvia, Subclasses of harmonic univalent functions, *The New Zealand Journal of Mathematics* **28**(2), (1999), 275-284.
- [3] O.P.Ahuja and J.M.Jahangiri, Sakaguchi-type harmonic univalent functions, *Scientiae Mathematicae Japonicae* **59**(1), (2004), 239-244.
- [4] S.Ruscheweyh, Neighborhood of univalent functions, *Proc. Amer. Math. Soci* **81**(4), (1981), 521-527.
- [5] J.M.Jahangiri, G.Murugusundaramoorthy, and K.Vijaya, Sălăgean-Type Harmonic Univalent Functions, *Southwest J. Pure Appl. Math* **2**, (2002), 77-82.
- [6] H.Silverman, Harmonic univalent functions with negative coefficients, *Journal of Mathematical Analysis and Applications* **220**(1), (1998), 283-289.
- [7] K.Al Shaqsi and M.Darus, On harmonic univalent functions with respect to k -symmetric points, *Int. J. Contemp. Math. Sci*, **3**(3), (2008), 111-118.
- [8] H.Ö. Güney, Sakaguchi-type harmonic univalent functions with negative coefficients, *Int. J. Contemp. Math. Sci* **10**(2), (2007), 459-463.
- [9] T.Shell-Small, Constants for planar harmonic mapping, *J. London. Math. Soc* **42**(2), (1990), 237-248.
- [10] W.Hengartner and G. Schober, Univalent Harmonic Functions, *Trans. Amer. Math. Soc.* **299**(1), (1987), 1-31.
- [11] S.Latha, Coefficient inequalities for certain classes of Ruscheweyh type analytic functions, *J. Inequal. Pure. Appl. Math* **9** (2), (2008), Art. 52,5 pp.
- [12] P.Liczberski and J.Polubinski, On (j, k) -symmetrical functions, *Mathematica Bohemica*, **120**, (1995), 13-25.
- [13] Fuad Al-sarari and S.Latha, A new class of (j, k) -symmetric harmonic functions, *Studia Mathematica*, **60**(4), (2015), 553-559.
- [14] J.Clunie and T.Shell-Small, Harmonic univalent functions, *Ann. Acad. Sci. Fenn. Ser. A I Math* **9**, (1984), 3-25.
- [15] K.Al Shaqsi and M.Darus, On subclass of harmonic starlike functions with respect to k -symmetric points, *Int. Math. Forum*, **2**, (57-60), (2007), 2799-2805.